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Section 1.3 #3

The graph of v = \_.f"4x — x2 is shown in the figure.
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The graph of ¥ = / 4. — 42 is shown in the figure,
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Use transformations to construct a function whose graph is as shown,
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How about this one?

Use transformations to construct a function whose graph is as shown.
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A variable star is one whose brightness alternately increases and decreases. For one such star, the time between periods of
maximum brightness is 4.6 days, the average brightness (or magnitude) of the star is 5.4, and its brightness varies by
+0.25 magnitude. Find a function that models the brightness of the star as a function of time {in days), f. (Assume that at
t = 0 the brightness of the star is 5.4 and that the function is increasing.)
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Find each of the following functions and state their domains. (Enter the domains in interval notation.)
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s, 21

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.).
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